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１
!"

:;<=

：
>?@ABCDE

１５ｍｍ，
F?@ABCDE

２５ｍｍ，
GHIHJKFIH

LM

。

②NOP

： ８＠１５０
ｌ２＝４２００＋６．２５×８×２＝４３００ｍｍ

ｎ２＝
７２００－２×３００２ －

１５０
２ ×２

１５０[ ]＋１ ×６＝４６×６＝２７６Q

⑤NOP

： ８＠２００
ｌ５＝７００＋（３００－２５＋１５×８）＋６．２５×８＋（１００－２×１５）＝１２１５ｍｍ

ｎ５＝
７２００－２×３００２ －

２００
２ ×２

２００[ ]＋１ ×６＝３５×６＝２１０Q

⑥NOP

： ８＠２００
ｌ６＝２×７５０＋３００＋（１００－２×１５）×２＝１９４０ｍｍ

ｎ６＝
７２００－２×３００２ －

１６０
２ ×２

１６０[ ]＋１ ×３＝４４×３＝１３２Q

２
!"

:;<=

：
>?@ABCDE

１５ｍｍ，
F?@ABCDE

２５ｍｍ。
（１）

RSTUP

Ｘ
(OP

： １０＠１５０
ｌｘ＝３６００ｍｍ

ｎｘ＝
６９００－２×３００２ －

１５０
２ ×２

１５０[ ]＋１ ＝４４Q

Ｙ
(OP

： ８＠１５０
ｌｙ＝６９００ｍｍ

ｎｙ＝
３６００－２×２５０２ －

１５０
２ ×２

１５０[ ]＋１ ＝２３Q

（３）
RVWTUP

①NOP

： ８＠１５０

ｌ１＝１０００＋（
２５０
２ －２５＋１５×８）＋（１５０－２×１５）＝１３４０ｍｍ

ｎ１＝
６９００－２×３００２ －

１５０
２ ×２

１５０[ ]＋１ ＝４４Q
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②NOP

： １０＠１００
ｌ２＝１８００×２＋（１５０－２×１５）×２＝３８４０ｍｍ

ｎ２＝
６９００－２×３００２ －

１００
２ ×２

１００[ ]＋１ ＝６６Q

⑧NOP

： ８＠１００
ｌ８＝１０００×２＋（１５００＋１５０×２）＋（１５０－２×１５）×２＝４０４０ｍｍ

ｎ８＝
３６００－２×２５０２ －

１００
２ ×２

１００[ ]＋１ ＝３４Q

⑤NOP

： ８＠１５０

ｎ５＝
３６００－１５０－１２５－１５０２ ×２

１５０[ ]＋１ ＝２３Q

XYZ?Q[

：ｎ’＝ ２２５０－１５０－１５０－
１５０
２

１５０[ ]＋１ ＝１３Q

U\

ＣＡＤ
]=^_`XYZaDbcE

１２４４，１４４５，１６０７，１７４１，１８５４，１９４９，２０２８，
２０９３，２１４６，２１８８，２２１９，２２１９，２２３９，２２４９，

daDE

２５０００ｍｍ，
e⑤NOPdaE

：

ｌ５＝（２５０００－１３×２５＋１５×８×１３）＋３００×３＋１０００×１３＋（１５０－２×１５）×１３＋（２３－１３）
×（１０００＋２４００＋１５０－２５＋１５×８＋１５０－２×２５）＝８２３４５ｍｍ
（３）

bfP

： ８＠２５０
ｌｘ＝３６００－１０００－１８００＋１５０×２＝１１００ｍｍ
ｌｙ＝６９００－１０００－１０００＋１５０×２＝５２００ｍｍ

ｎｘ８＝
１０００－３００２ －

２００
２

２５０[ ]＋１ ＝４Q

ｎｘ５＝
１０００－３００２ －

２００
２

２５０[ ]＋１ ＝４Q

ｎｙ１＝
１０００－２５０２ －

２５０
２

２５０[ ]＋１ ＝４Q

ｎｙ２＝
１８００－２５０２ －

２５０
２

２５０[ ]＋１ ＝８Q

３
!"

ＫＬ４
ghi^_

：
Fj?@ABCDE

２５ｍｍ，
j89E

５００×４５０ｍｍ，
klmnaD

ｌａＥ＝３３ｄ，oEpq

。

（１）
F.rUaPE

２ ２２
ｈｃ＝４５０＜ｌａＥ＝３３×２２＝７２６ｍｍsm
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ｌ１＝（２４００＋１５０＋６９００＋１８００＋６９００）－２５＋１２×２２＋１５０－２５＋１５×２２＝１８８４４ｍｍ
pt[

：１８８４×２＝５７６８８ｍｍ
（２）

F.ruvwP

Ａ
GxyzuvwP

：②２ ２２

ｌ２＝２４００＋１５０－２５＋１２×２２＋３００＋
６９００－３００×２

３ ＝５１８９ｍｍ

da

：５１８９×２＝１０３７８ｍｍ
Ａ
Gx{zuvwP

：③２ ２２

ｌ３＝２４００＋１５０－２５＋１２×２２＋３００＋
６９００－３００×２

４ ＝４６６４ｍｍ

da

：４６６４×２＝９３２８ｍｍ
Ｂ、Ｃ

GxyzuvwP

：④２ ２２

ｌ４＝１８００＋３００×２＋
６９００－３００×２

３ ＝４５００ｍｍ

da

：４５００×２＝９０００ｍｍ

Ｂ、Ｃ
Gx{zuvwP

：⑤２ ２２

ｌ５＝１８００＋３００×２＋
６９００－３００×２

４ ＝３９７５ｍｍ

da

：３９７５×２＝７９５０ｍｍ
Ｄ
GxyzuvwP

：⑥２ ２２

ｌ６＝４５０－２５＋１５×２２＋
６９００－３００×２

３ ＝２８５５ｍｍ

da

：２８５５×２＝５７１０ｍｍ
Ｄ
Gx{zuvwP

：⑦２ ２２

ｌ７＝４５０－２５＋１５×２２＋
６９００－３００×２

４ ＝２３３０ｍｍ

da

：２３３０×２＝４６６０ｍｍ
（３）

F|rOP

Ｃ、Ｄ
}

：⑧７ ２０
ｌ８＝（６９００－３００×２）＋（４５０－２５＋１５×２０）＋３３×２０＝７６８５ｍｍ
da

：７６８５×７＝５３７９５ｍｍ
Ｂ、Ｃ

}

：⑨２ ２０
ｌ９＝（１８００－１５０×２）＋３３×２０×２＝２８２０ｍｍ
da

：２８２０×２＝５６４０ｍｍ
Ａ、Ｂ

}

：⑩６ ２２
ｌ１０＝（６９００－３００×２）＋３３×２０×２＝７６２０ｍｍ
da

：７６２０×２＝１５２４０ｍｍ
~�rb

：瑏瑡２ １６
ｌ１１＝２４００＋１５０－２５－１５０×１６＝２６１５ｍｍ
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da

：２６１５×２＝５３２０ｍｍ
（４）

��P瑏瑢４ １０
Ｃ、Ｄ

}

：（６９００－３００×２）＋１５×１０×２＝６６００ｍｍ
Ａ、Ｂ

}

：（６９００－３００×２）＋１５×１０×２＝６６００ｍｍ
Ｂ、Ｃ

}

：（１８００－１５０×２）＋１５×１０×２＝１８００ｍｍ
~�rb

：２４００－１５０＋１５０－２５＋１５×１０×２＝２５２５ｍ
da

：（６６００＋１８００＋６６００＋２５２５）×４＝７０１００ｍｍ
（５）

&P瑏瑣 ６＠４００
g

ｂ＝２５０ｍｍ＜３５０ｍｍ
∴ｄ＝６ｍｍ，ｓ＝４００ｍｍ
ｄ１３＝（ｂ－ｘ）＋ ｍａｘ（７５，１０ｄ）＋１．９[ ]ｄ×２＝３７３ｍｍ

ｎ１＝
６９００－２×３００－５０×２

４００[ ]＋１ ＝１７
Q

ｎ２＝
１８００－２×１５０－５０×２

４００[ ]＋１ ＝５
Q

ｎ３＝
６９００－２×３００－５０×２

４００[ ]＋１ ＝１７
Q

ｎ４＝
２４００＋１５０－１５０－２５－５０

４００[ ]＋１ ＝７
Q

da

：３７３×（１７＋５＋１７＋５＋７）＝１７１５８ｍｍ
（６）

�P瑏瑤 １０＠１００／２００（２）
ｄ１４＝ （ｂ－２ｃ）＋（ｈ－２ｃ）＋１．９ｄ＋ｍａｘ（１０ｄ，７５[ ]） ×２＝１９３８ｍｍ
Ｃ、Ｄ

}

：

ｎ１＝
ｍａｘ（１．５×７００，５００）－５０

１００[ ]＋１ ＝１１
Q

ｎ２＝
６９００－２×３００－１．５×７００×２

２００[ ]－１ ＝２０
Q

Ｂ、Ｃ
}

：

ｎ３＝
１８００－２×１５０－５０×２

１００[ ]＋１ ＝１５
Q

Ａ、Ｂ
}

：

ｎ４＝
ｍａｘ（１．５×７００，５００）－５０

１００[ ]＋１ ＝１１
Q

ｎ５＝
６９００－２×３００－１．５×７００×２

２００[ ]－１ ＝２０
Q

~�rb

：

ｎ６＝
２４００＋１５０－１５０－２５－５０

１００[ ]＋１ ＝２５
Q

da

：１９３８×（１１×２＋２０＋１５＋１１×２＋２０＋２５）＝２４０３１２ｍｍ

４
!
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ＫＺ４
oEj �FmnaE

ｌａＥ＝１．５ｌａｂＥ＝１．５×３１ｄ，Ｃｓ＝４０ｍｍ，Ｃｃ＝３０ｍｍ
（１）

�%P

���P

：

ｌ１＝１４４５０＋２００＋５２００－４０＋ｍａｘ（６ｄ，１５０）－６００＋１．５×３１×１８＝２０１９７ｍｍ
ｎ１＝４Q
���P

ｌ２＝１４４５０＋２００＋５２００－４０＋ｍａｘ（６ｄ，１５０）－３０＋１２×１８＝２０１４６ｍｍ
ｎ２＝８Q
da

：２０１９７×４＋２０１４６×８＝２４１９５６ｍｍ
（２）

�P

���

ｌ０＝［（ｂ－２ｃ）＋（ｈ－２ｃ）＋１．９ｄ＋ｍａｘ（１０ｄ，７５）］×２
ｌ１＝［（５００－２×３０）＋（５００－２×３０）＋１．９×８＋１０×８］×２＝１９５１ｍｍ
ｌ２＝［（５００－２×３０）＋（５００－２×３０）＋１．９×１０＋１０×１０］×２＝１９９８ｍｍ
���

ｌ＝［（ｂ－２ｃ）＋１．９ｄ＋ｍａｘ（１０ｄ，７５）］×２＋ （ｂ－２ｃ－２ｄ－４Ｄ）３ ＋２Ｄ＋２[ ]ｄ×２
ｌ３＝［（５００－２×３０）＋１．９×８＋１０×８］×２＋

５００－３０×２－２×８－４×１８
３[ ]＋２×１８＋２×８ ×２＝１４１０ｍｍ

ｌ４＝［（５００－２×３０）＋１．９×１０＋１０×１０］×２＋
５００－３０×２－２×１０－４×１８

３[ ]＋２×１８＋２×１０ ×２＝１４６２ｍｍ

���

：
���

ｎ１＝ｍａｘ
６５０－１００－４０

５００ ＋１，[ ]２ ＝３Q
�nr��.

Ｈｎ
３�：

Ｈｎ＝５２００－５００－６５０＝４０５０ｍｍ

ｎ２＝
Ｈｎ
３－５０

１００







＋１ ＝１４Q

ｎ３＝
ｈｂ１＋ｍａｘ（

Ｈｎ
６，ｈｃ，５００）

１００







＋１ ＝１３Q

ｎ４＝
Ｈｎ－

Ｈｎ
３－
Ｈｎ
６

２００







－１ ＝１０Q

yB

：Ｈｎ１＝３６５０＋２００－６００＝３２５０ｍｍ
{B

：Ｈｎ２＝７２５０－３６５０－６００＝３０００ｍｍ

４１



ｎ５＝
Ｈｎ
３－５０

１００







＋１ ＝１２Q

ｎ６＝
ｍａｘ（

Ｈｎ１
６，ｈｃ，５００）＋６００＋ｍａｘ（

Ｈｎ２
６，ｈｃ，５００）

１００







＋１ ＝１８Q

ｎ７＝
３２５０－５０９－５００

２００[ ]－１ ＝１１
Q

{B

：Ｈｎ２＝３０００ｍｍ
�B

：Ｈｎ３＝３０００ｍｍ

ｎ８＝
ｍａｘ（

Ｈｎ２
６，ｈｃ，５００）＋６００＋ｍａｘ（

Ｈｎ３
６，ｈｃ，５００）

１００







＋１ ＝１７Q

ｎ９＝
３０００－５００－５００

２００[ ]－１ ＝９
Q

�B

：Ｈｎ３＝３０００ｍｍ
�B

：Ｈｎ４＝２４００ｍｍ

ｎ１０＝
ｍａｘ（

Ｈｎ３
６，ｈｃ，５００）＋６００＋ｍａｘ（

Ｈｎ４
６，ｈｃ，５００）

１００







＋１ ＝１７Q

ｎ１１＝
３０００－５００－５００

２００[ ]－１ ＝９
Q

�B

：Ｈｎ４＝２４００ｍｍ

ｎ１２＝
６００－３０＋５００

１００[ ]＋１ ＝１２
Q

ｎ１３＝
２４００－５００－５００

２００[ ]－１ ＝６
Q

da

：ｌ２×（ｎ１＋ｎ２＋ｎ３＋ｎ４）＋ｌ１×（ｎ５＋… ＋ｎ１３）＋ｌ４×（ｎ２＋ｎ３＋ｎ４）＋ｌ３×（ｎ５＋… ＋
ｎ１３）＝５０３７２４ｍｍ

５
!"

��

：
�@ABCDE

１５ｍｍ，ｌａＥ＝３７ｄ
（１）

��

Ｑ１
１）

��OP① １２＠２００／② １０＠２００
ｌ１

�

＝６９００＋１５０×２－１５×２＋０．８×３７×１２＝７５２５ｍｍ
ｌ１

�

＝６９００＋１５０×２－１５×２＋１５×１２＝７３５０ｍｍ
ｌ２

�

＝６９００＋１５０×２－１５×２＋０．８×３７×１０＝７４６５ｍｍ
ｌ２

�

＝６９００＋１５０×２－１５×２＋１５×１０＝７３２０ｍｍ

ｎ１＝
４５００－２００
２００ ＋１＝２３

Q

５１



ｎ２＝
４２００－２００
２００ ＋１＝２１

Q

ｎ３＝
３６００－２００
２００ ＋１＝１８

Q

ｎ４＝ｎ５＝…＝ｎ１６＝１８Q

ｎ
�

＝３３００－２００２００ ＋１＝１７
Q

da
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